

2021 measurement year

Comparison of average utilization for commercially insured patients and the average statewide utilization for patients with the same clinical risk (Expected value). Values are listed as "per 1,000 patients" to allow for comparisons of medical groups of different sizes and describes how many services would happen within a 12 month period.

GROUP NAME	PRIMARY CARE VISITS			SPECIALTY VISITS			PHARMACY USE			GENERIC
	Actual	Expected	Ratio	Actual	Expected	Ratio	Actual	Expected	Ratio	RX USE
AALFA Family Clinic	2,590	2,835	0.91	1,662	1,730	0.96	12,702	14,696	0.86	89.1%
All About Children Pediatrics -	2.644	2.606	1.01	1 472	1 201	1.15	7 774	6.650	4 47	01 50/
Children's Health Network	2,641	2,606	1.01	1,473	1,281	1.15	7,774	6,659	1.17	81.5%
Allina Health	2,799	2,773	1.01	1,960	1,941	1.01	20,289	19,337	1.05	88.5%
Alomere Health	2,678	2,624	1.02	1,088	1,652	0.66	13,113	15,234	0.86	89.4%
Altru Health System	2,832	2,677	1.06	1,269	1,722	0.74	17,412	15,736	1.11	86.8%
Amery Hospital and Clinic	2,226	2,694	0.83	1,421	1,854	0.77	19,068	18,031	1.06	93.1%
Avera Medical Group - Granite	2.010	2 500	1.00	1.066	1 620	0.65	17 024	16 720	1.07	00.00/-
Falls Health Center	2,810	2,599	1.08	1,066	1,639	0.65	17,824	16,720	1.07	89.9%
Avera Medical Group -	2.007	2.010	0.00	001	1.004	0.52	10.450	17 500	1 11	00 50/
Pipestone	2,687	2,810	0.96	991	1,884	0.53	19,459	17,588	1.11	89.5%
Avera Medical Group-	2.012	2 775	1.01	1 001	1 740	0.62	10.012	15 500	0.00	07.50/
MARSHALL	2,813	2,775	1.01	1,081	1,749	0.62	10,813	15,598	0.69	87.5%
Avera Medical Group-										
MCGREEVY CLINIC, United	2.516	2.016	0.00	1 (00	1 020	0.02	10 121	17.004	1.00	07.00/
Medical Center, Worthington	2,516	2,816	0.89	1,600	1,929	0.83	19,121	17,664	1.08	87.9%
Speciality Clinic										
CCM Health	2,497	2,540	0.98	1,346	1,633	0.82	17,479	15,862	1.10	89.0%
CentraCare Health	2,486	2,809	0.89	1,421	1,924	0.74	17,183	17,942	0.96	91.1%
Central Pediatrics	3,126	2,929	1.07	1,807	1,332	1.36	5,285	5,222	1.01	83.4%
Child and Teen Medical	2.100	2.627	1.21	1 225	1 152	1.07	4.700	4.057	0.00	86.9%
Center	3,188	2,627	1.21	1,235	1,152	1.07	4,769	4,957	0.96	86.9%
Children's Clinic Network	3,233	2,775	1.17	1,367	1,238	1.10	5,336	5,045	1.06	85.1%
Children's Minnesota	3,592	3,335	1.08	2,924	2,096	1.40	12,924	8,209	1.57	66.7%
Clinic Sofia Ob/Gyn	2,710	2,891	0.94	2,066	1,691	1.22	13,903	14,925	0.93	88.4%
Community Memorial	2,457	2,403	1.02	1,370	1,607	0.85	18,071	17,104	1.06	87.8%
Hospital	2,431	2,403	1.02	1,370	1,007	0.65	10,011	11,104	1.00	01.070
Community University Health	2,718	2,032	1.34	1,489	1,251	1.19	10,681	12,585	0.85	84.9%
Care Center	2,710	2,032	1.34	1,409	1,231	1.19	10,001	12,363	0.65	04.5%
Cuyuna Regional Medical	2,677	2,878	0.93	1,434	1,994	0.72	17,667	18,602	0.95	89.1%
Center	2,011	2,010	0.33	1,434	1,334	0.72	11,001	10,002	0.95	03.170
Dulcimer Medical Center	2,701	2,492	1.08	971	1,543	0.63	13,825	15,193	0.91	87.0%
Eagan Valley Pediatrics	2,841	2,787	1.02	1,430	1,316	1.09	7,476	5,846	1.28	88.1%
Edina Sports Health &	2,642	2,686	0.98	2,429	2,008	1.21	21,150	22,032	0.96	89.9%
Wellness	2,042	2,000	0.30	2,423	2,000	1.21	21,130	22,032	0.30	03.370
Entira Family Clinics	2,752	2,660	1.03	2,038	1,876	1.09	21,542	19,638	1.10	89.7%
Essentia Health - Central	2,519	2,682	0.94	1,450	1,842	0.79	17,786	17,422	1.02	89.3%
Region	2,319	2,002	0.54	1,450	1,042	0.19	11,100	11,422	1.02	09.3%0
Essentia Health - East Region	2,658	2,768	0.96	1,696	1,919	0.88	19,517	18,074	1.08	88.5%
Essentia Health - West	2,800	2,803	1.00	1,552	1,905	0.81	18,698	16,693	1.12	88.6%
Fairview Mesaba Clinics	2,796	2,784	1.00	1,505	1,909	0.79	19,286	18,046	1.07	88.2%



2021 measurement year

Comparison of average utilization for commercially insured patients and the average statewide utilization for patients with the same clinical risk (Expected value). Values are listed as "per 1,000 patients" to allow for comparisons of medical groups of different sizes and describes how many services would happen within a 12 month period.

GROUP NAME	PRIMARY CARE VISITS			SPECIALTY VISITS			PHARMACY USE			GENERIC
	Actual	Expected	Ratio	Actual	Expected	Ratio	Actual	Expected	Ratio	RX USE
Family Health Care of	2 215	2 0E1	1.00	1 027	2 126	0.06	25 400	20.060	1 27	00.00/-
Siouxland	3,315	3,051	1.09	1,827	2,136	0.86	25,499	20,068	1.27	89.9%
France Avenue Family										
Physicians - Minnesota	2,542	2,491	1.02	2,457	1,809	1.36	21,055	20,449	1.03	87.5%
Healthcare Network										
Gateway Family Health Clinic	2,822	2,522	1.12	1,252	1,671	0.75	16,534	16,548	1.00	88.9%
Glencoe Regional Health	2,603	2,713	0.96	1,302	1 706	0.73	17,229	16,640	1.04	88.4%
Services	2,003	2,713	0.96	1,302	1,786	0.75	11,229	10,040	1.04	00.4%
Glenwood Medical Center	2,390	2,462	0.97	886	1,569	0.56	14,292	14,871	0.96	90.5%
Grand Itasca Clinic	2,555	2,652	0.96	1,214	1,713	0.71	16,976	16,276	1.04	89.5%
Grow Pediatrics	2,858	2,843	1.01	1,240	983	1.26	2,748	3,977	0.69	88.8%
Gundersen Health System	2,743	2,547	1.08	1,230	1,651	0.74	15,697	17,264	0.91	88.0%
HealthPartners Clinics	2,451	2,704	0.91	2,369	1,834	1.29	16,975	17,373	0.98	90.9%
Hennepin Healthcare	3,197	3,112	1.03	2,037	2,300	0.89	18,165	19,438	0.93	85.6%
Hudson Physicians	2,742	2,675	1.03	1,406	1,673	0.84	12,912	14,414	0.90	91.8%
Hutchinson Health	2,642	2,683	0.98	1,595	1,765	0.90	17,095	16,734	1.02	91.6%
Infinite Health Collaborative	2,733	2,822	0.97	2,132	1,821	1.17	16,189	17,685	0.92	88.3%
Kittson Healthcare Clinic	3,647	2,609	1.40	1,021	1,760	0.58	16,782	16,611	1.01	89.2%
Lake Region Healthcare	2,564	2,751	0.93	1,332	1,847	0.72	17,965	17,889	1.00	89.7%
Lake View Clinic - Two	2 477	2 500	0.06	1 500	1 767	0.00	15.004	17 7CE	0.00	00.00/-
Harbors	2,477	2,580	0.96	1,580	1,767	0.89	15,994	17,765	0.90	88.9%
Lakeview Clinic	2,613	2,604	1.00	1,466	1,608	0.91	14,845	15,183	0.98	89.8%
Lakewood Health System	2,890	2,782	1.04	1,168	1,790	0.65	14,637	15,898	0.92	90.3%
M Health Fairview	2,681	2,780	0.96	2,061	1,915	1.08	19,106	18,179	1.05	87.3%
Mankato Clinic, Ltd.	3,094	2,761	1.12	1,317	1,776	0.74	12,973	15,425	0.84	86.5%
Mayo Clinic	3,360	2,572	1.31	2,077	1,872	1.11	12,881	17,691	0.73	86.2%
Mayo Clinic Health System -	2,708	2,354	1.15	1,167	1,492	0.78	13,255	15,166	0.87	86.7%
Fairmont	2,100	2,334	1.13	1,107	1,492	0.76	13,233	13,100	0.01	00.170
Mayo Clinic Health System -										
Franciscan Healthcare in La	2,988	2,504	1.19	1,363	1,687	0.81	18,359	17,461	1.05	89.4%
Crosse										
Mayo Clinic Health System -	1,979	2,530	0.78	1 076	1 625	1.22	17,263	15,636	1.10	88.5%
Northwest Wisconsin Region	1,919	2,550	0.76	1,976	1,625	1.22	17,203	13,030	1.10	00.3%
Mayo Clinic Health System -	2,939	2,342	1.25	1,184	1,445	0.82	13,401	15,030	0.89	88.2%
Southeast Minnesota Region	2,939	2,342	1.23	1,104	1,443	0.62	13,401	13,030	0.69	00.270
Mayo Clinic Health System -	2,955	2,491	1.19	1,394	1,656	0.84	14,546	16,120	0.90	87.3%
Southwest Minnesota Region	2,955	2,491	1.19	1,394	1,030	0.04	14,540	10,120	0.90	61.3%
Meeker Memorial Clinic	2,492	2,713	0.92	1,161	1,792	0.65	18,851	17,439	1.08	91.6%
Mendakota Pediatrics Ltd	3,233	2,735	1.18	1,367	1,081	1.26	4,658	4,135	1.13	88.7%
Mille Lacs Health System	2,975	2,784	1.07	1,279	1,967	0.65	23,866	20,454	1.17	93.1%
Minnesota Women's Care	3,164	3,160	1.00	2,428	2,129	1.14	17,012	19,837	0.86	90.3%
North Memorial	2,602	2,646	0.98	2,000	1,871	1.07	20,123	18,871	1.07	87.7%



2021 measurement year

Comparison of average utilization for commercially insured patients and the average statewide utilization for patients with the same clinical risk (Expected value). Values are listed as "per 1,000 patients" to allow for comparisons of medical groups of different sizes and describes how many services would happen within a 12 month period.

GROUP NAME	PRIMARY CARE VISITS			SPECIALTY VISITS			PHARMACY USE			GENERIC
	Actual	Expected	Ratio	Actual	Expected	Ratio	Actual	Expected	Ratio	RX USE
Northern Lights Pediatric and	3,039	2,782	1.09	1,391	1,410	0.99	6,113	6,177	0.99	83.7%
Adolescent Medicine	3,033	2,102	1.03	1,331	1,410	0.33	0,113	0,111	0.33	03.170
Northfield Hospital + Clinics	2,464	2,711	0.91	1,483	1,625	0.91	14,942	15,072	0.99	89.6%
NorthPoint Health & Wellness	2,401	2,036	1.18	1,511	1,307	1.16	11,520	12,832	0.90	83.9%
Center	2,401	2,030	1.10	1,511	1,501	1.10	11,520	12,032	0.50	03.570
Northwest Family Physicians	2,452	2,501	0.98	1,744	1,766	0.99	20,908	19,567	1.07	89.4%
Olivia Hospital & Clinic	2,661	2,636	1.01	1,075	1,682	0.64	15,734	15,910	0.99	89.8%
Olmsted Medical Center	2,639	2,479	1.06	1,197	1,531	0.78	11,252	15,833	0.71	88.1%
Ortonville Area Health										
Services-Northside Medical	2,576	2,632	0.98	1,169	1,624	0.72	15,485	15,584	0.99	90.2%
Clinic										
Park Nicollet Health Services	2,768	2,793	0.99	2,298	1,901	1.21	17,857	18,104	0.99	89.4%
Parkview Medical Clinic -										
Minnesota Healthcare	2,956	2,539	1.16	1,268	1,635	0.78	16,791	16,231	1.03	89.7%
Network										
Pediatric & Young Adult	2,781	2,925	0.95	1,865	1,494	1.25	7,235	6,514	1.11	84.6%
Medicine	2,701	2,323	0.33	1,005	1,434	1.25	1,233	0,314	1.11	04.070
Pediatric Services - Children's	3,138	2,774	1.13	1,825	1,249	1.46	5,584	5,600	1.00	85.6%
Physician Network	3,130	2,114	1.13	1,023	1,249	1.40	3,304	3,000	1.00	03.070
Perham Health	2,543	2,676	0.95	1,091	1,724	0.63	15,133	16,239	0.93	91.8%
Planned Parenthood										
Minnesota, North Dakota,	1,947	2,023	0.96	1,570	1,110	1.41	9,731	10,411	0.93	87.4%
South Dakota										
Premier OB/GYN of Minnesota	2,714	2,779	0.98	1,876	1,639	1.14	12,819	15,137	0.85	88.7%
Richfield Medical Group	2,570	2,582	1.00	1,971	1,935	1.02	24,321	21,732	1.12	86.5%
Ridgeview Clinics	2,543	2,587	0.98	1,784	1,796	0.99	18,080	18,465	0.98	88.4%
RiverView Health	2,811	2,576	1.09	1,295	1,730	0.75	15,754	16,625	0.95	87.3%
Riverwood Healthcare Center	2,961	2,670	1.11	1,293	1,849	0.70	19,500	19,095	1.02	90.0%
Rural Health Care, Inc	2,945	2,577	1.14	987	1,543	0.64	13,481	14,108	0.96	87.5%
Sanford Health	2,804	2,725	1.03	1,379	1,851	0.75	17,243	17,088	1.01	88.5%
Sartell Pediatrics - IHN	3,059	2,866	1.07	1,130	1,417	0.80	5,229	5,963	0.88	88.6%
Sawtooth Mountain Clinic	2,053	2,047	1.00	757	1,229	0.62	11,040	14,120	0.78	90.9%
Scenic Rivers Health Services	3,026	2,438	1.24	1,035	1,661	0.62	17,639	17,525	1.01	88.5%
Sibley Medical Center DBA										
Ridgeview Sibley Medical	3,008	2,585	1.16	1,399	1,752	0.80	21,150	18,036	1.17	90.0%
Center										
Sleepy Eye Medical Center	2,295	2,451	0.94	1,065	1,450	0.73	10,740	14,048	0.76	88.1%
South Lake Pediatrics	3,472	3,133	1.11	1,272	1,458	0.87	5,424	5,745	0.94	83.8%
Southdale Pediatric	2,970	2,833	1.05	1,493	1,269	1.18	5,322	5,396	0.99	81.4%
Associates, Ltd	2,310	2,000	1.05	1, 155	1,203	1.10	3,322	3,330	0.55	01.770
St. Croix Regional Medical	2,487	2,705	0.92	1,558	1,873	0.83	17,086	17,765	0.96	91.3%
Center	_,	_,,,,,,	3.32	_,000	_,0.0	3.03	_1,000	,. 55	3.30	01.070



2021 measurement year

Comparison of average utilization for commercially insured patients and the average statewide utilization for patients with the same clinical risk (Expected value). Values are listed as "per 1,000 patients" to allow for comparisons of medical groups of different sizes and describes how many services would happen within a 12 month period.

GROUP NAME	PRIMARY CARE VISITS			SPECIALTY VISITS			PHARMACY USE			GENERIC
GROUP NAME	Actual	Expected	Ratio	Actual	Expected	Ratio	Actual	Expected	Ratio	RX USE
St. Luke's Clinics	2,579	2,752	0.94	1,693	1,869	0.91	17,955	18,048	0.99	87.0%
Stellis Health, PA	2,646	2,552	1.04	1,290	1,629	0.79	15,262	15,637	0.98	89.4%
Stevens Community Medical Center	2,605	2,572	1.01	1,244	1,625	0.77	14,437	14,290	1.01	87.3%
Swift County Benson Health Services	2,189	2,412	0.91	1,197	1,477	0.81	15,915	14,309	1.11	92.0%
Synergy Family Physicians, P.A	2,618	2,642	0.99	1,882	1,603	1.17	11,152	14,213	0.78	83.5%
Tri-County Health Care	2,678	2,624	1.02	1,070	1,700	0.63	18,701	17,148	1.09	89.2%
United Family Medicine	2,665	2,380	1.12	1,708	1,627	1.05	17,980	17,413	1.03	89.6%
United Hospital District Clinic	2,888	2,726	1.06	1,394	1,818	0.77	18,348	17,274	1.06	89.1%
Unity Family Healthcare, Family Medical Center	2,420	2,631	0.92	1,166	1,724	0.68	16,676	16,308	1.02	91.2%
University of Minnesota Physicians	3,078	2,743	1.12	2,332	2,043	1.14	21,146	20,019	1.06	86.4%
Voyage Healthcare	2,708	2,660	1.02	1,960	1,875	1.05	19,909	19,725	1.01	90.1%
Wayzata Children's Clinic	3,283	2,879	1.14	1,255	1,265	0.99	5,003	4,983	1.00	85.4%
Welia Health	2,292	2,517	0.91	1,305	1,617	0.81	16,826	15,967	1.05	89.4%
West Side Community Health Services	2,771	2,310	1.20	1,348	1,437	0.94	15,594	15,265	1.02	81.5%
Western Wisconsin Health	2,829	2,960	0.96	1,703	1,996	0.85	16,784	17,105	0.98	89.7%
Westfields Hospital and Clinic	2,073	2,696	0.77	1,779	1,774	1.00	17,026	16,359	1.04	91.9%
Winona Health Services	2,597	2,447	1.06	1,030	1,472	0.70	12,967	15,848	0.82	89.2%